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TET - Il EXAM-2017 (Exam Date : 20-08-17)
(GUJARATI MEDIUM)

Provisional Answer Key (Publish Date : 28-08-2017)
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38 |[Give one word for “ to go on some one's land without permission. ” to trespass
39 |The police investigating the fraud, but haven't arrested anyone yet. are
40 |My mother______ coffee before | woke up. had made
41 |Choose the antonym of the word ‘ please’ displease
47 |Choose the correctly spelled word. inconvenience
43 |Last night | went out with some friends of myself
44 |My uncle had come from Surat the new motorbike. riding
45 [Navaratri, festival is celebrated to worship Goddess Durga. a nine-day
46 crossing the road, | saw an accident. While
47 |The National Book Fair_______in the newspaper, but | didn't notice. was advertised
48 |After______ her, we left for our home. seeing
49 |As soon as the sun came out,|______down on top of a high rock to dry myself. lay
50 |Vishwanathan Anand was born 11th December, 1969 on
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96 |Complete the sentence. : Disha knows the reason.... Why her brother could not pass the examination.
97 Select the proper word for underlined word. <pilt

The cat jumped over the glass of milk. The milk was spread all over the floor of the kitchen. P
98 |The Voter can hardly find any difference the parties contesting the elections. among

99

Teacher : Ramesh, give me your sharpener, please.

Here it is, madam.

Ramesh : Teacher : Thank you.
100 |The ______ part of the novel was boring. latter
101 [Which one is the correct sentence ? We have not met for a longtime.
102 |Select the proper option for underlined sentence.:  When | reached the hall, it was full. All the seats were occupied.
103 |She went to market after she_____ money from the ATM. had withdrawn
104 |Before | reached home, my wife _____already _____ the doctor. had, rung up
105 [My younger brother is good ____ mathematics. in
106 |Which one is not utensils ? coal
107 |Remove ‘too’ - He is too poor to buy any clothes. He is so poor that he cannot buy any clothes.
108 |Rohit ran after a cat. The cat ran ____ the kitchen. into
109 |Ramesh _____ walk a long distance everyday. can
110 Co.mplete the dialogue. . should go
Mittal : Uncle, | don't feel well today. Uncle: oh ! you ____ to bed. | will call a doctor.
111 |___ she was warned that it would rain, she went out without umbrella. Though
112 |Mihir ____ his lunch in the canteen last night. had
113 |We started early we might not miss the train. so that
114 |l am riding my scooter, you ride yours
115 |10: 20 means....... Twenty past ten
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(ENGLISH MEDIUM)

Provisional Answer Key (Publish Date : 28-08-2017)
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Part - | (General)

1 |“Education is the manifestation of the perfection already in man.” who quotes this ? Swami Vivekanand
2 |Whoiis related from ‘Programme Learning.” ? Skinner
3 |“Learning by insight” — who explained this ? Kohler
4 ”:ther-teaching about Fhe body, various syst.ems & factions of body. A science teacher teaches about the whole to part
digestive system.” Which formula of education does a teacher follow ?
5 |Who accepted “Three dimensional process” of education ? John due
6 ;Iz:f:irent methods should be applied to teach intelligent & dull students.” Which principle is included Individual Disparity
Which is the special feature of “Programme Learning” ? The Learner learns from his own pace.
Which is not an internal factor of meditation ? Anticipation
9 [(Which method is more useful to evaluate the handwriting of the students ? Observation
10 [Who quotes this statements : “ Beginning of the lesson should be from concrete and ending from abstract.” |Herburt Spencer
11 |How will you develop the sense of co-operation among the students ? By giving the opportunity of group work.
12 |Which development of a child is affected by heredity and environment ? All of three
13 |Which method can useful for true evaluation of students ? Continuous evaluation.
14 |Children’s study improvement can be done if parents...... :tt‘j:;x.ently the teacher can be explained to the
15 [Which project was implemented to inspire girl child education ? Vidyalaxmi Bond Scheme
16 Acc?rding to the contiguous and comprehensive evaluation which method of evaluation should be used Al of three
during the year ?
17 [Which stage of life is known as “Spring of Life” ? Adolescence
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18 [Which magazine is published by The Children University, Gandhinagar ? Balvishva

19 |In which standard, written examination is taken in primary education ? std:3to 8

20 |What is the main objective of integrated education ? All above.

21 [What is the main objective of Sarva Shiksha Abhiyan Mission ? Above All

22 |Which method is applied to evaluate the students of primary schools ? Continuous and comprehensive evaluation.
23 |Who was the Pioneer of “Mathetics” one type of programme learning ? T. F. Gilbert

24 |Who is the Pioneer of “Motivational Learning.” ? Mac Duggal

25

Contribution of Adgar Dell in education means......

Cone of experience

26

“AEI andl 7 3@uNotell e 20 Al ?

Ay 4l

27 |“HIA 0w vt A ULSL WLeD ” cliselal sHEL YAoIML 3Rl 53 cllsd el ? orHLll 20 LR As ULsl ual
28 |ollActuiell 53 Al ‘ Ysels 7 slcd AU olel ? (@2ell stcat 2a3u 8.

29 |UE, UEL, UEUHSL, allsAl & cllsuiSlal lsclle] sIH scll UElA ¢ 58 8 ? dAlos

30 |cltsaloll A YA sl Ui B [Baruea s couscloll %32 usdl otell Aal 9 58 & ? uss BGarue

31 B ASl s29ul 8L, A A 5269 YR Aot Juui uSL otul. UL WSl 2AGE SAL YUSRG dlM JAAB 2 |ellcdcllUs

32 |“3letoll 3HaM ALy Aol o sl Al sl ~ clsauuigl Rellogsidl 2oe Yo 2l dHUEH

33 [§ ullel otell A 3 Rg 53 ? clsaul ystauus [Qang A avdl. 311

34 [eR AR slelof U B, — L cllsAMl WSt 20 Y YUA B ? (@

35 | uwaLs geq’Aed g ? WAl aqg

36 |“82 Mesdell Alssls scll A Al AU ofs2let 5l GRIR B. ” - (835 AcE YD W L. dlssls

37

aesAcll ettt A vaum Aale steaysiell A6l sl s(AA 531 sl ?

olnddRd s8R
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38 |Give one word for “ to go on some one's land without permission. ” to trespass
39 |The police investigating the fraud, but haven't arrested anyone yet. are
40 [My mother coffee before | woke up. had made
41 |[Choose the antonym of the word ‘ please’ displease
42 |[Choose the correctly spelled word. inconvenience
43 [Last night | went out with some friends of myself
44 |My uncle had come from Surat the new motorbike. riding
45 [Navaratri, festival is celebrated to worship Goddess Durga. a nine-day
46 crossing the road, | saw an accident. While
47 |The National Book Fair in the newspaper, but | didn't notice. was advertised
48 |After her, we left for our home. seeing
49 |As soon as the sun came out, | down on top of a high rock to dry myself. lay
50 |Vishwanathan Anand was born 11th December, 1969 on
51 [Which of the following planet has the highest power of gravitational force ? Jupiter
52 [Which of the following is different from other three ? RQP
In a class. Kaushik is cleverer than Ramesh. Hashmukh is duller than Jayesh. Kaushik is cleverer than )
53 . Kaushik
Jayesh than who is the cleverest of all ?
54 |Fill in the gap with proper option. : 25, 40, ......... , 121,169 81
55 |In which standard is direct grading is followed under SCE evaluation method ? std:1&2
Arrange the following “Literacy Programme” in proper order started by Government of India ?
1. Post Literacy Campaign.
56 |2. Adult Education Programme. 2-3-14
3. Total Literacy Campaign.
4. Saakshar Bharat.
57 |What is the identity of “Chhabadi” in teaching work through “Pragna Approach” ? The identity of sitting arrangement of learners.
F ¥ ¥
58 (+ Choose the correct diagram as given below.
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59 [If + menas x; - means +; x menas - and + means + than find the value of 20+ 40-8 x5 + 3 =.......... 10
60 [Choose the proper option on the base of co-relation. Cricket : Gugali :: Kho-Kho: ....... Duke
61 |What is used to know actual latitude and longitude of any place ? Global Positioning System
62 |Which of the mammals can fly ? Bat
63 The structure of primary syllabus is known as NCF. What is the structure of training college syllabus known NCETE
as ...... ?
64 |Who is the present chief of the committee to prepare final draft of the National Education policy ? K. Kasturirangan
65 |Name the process of movement of the sunflower in presence of sunlight ? Photonesty
66 |Who is not the permanent member of defence committee of U.N.O. ? Japan
67 |In which project does a child get to learn according to his speed and capacity of learning ? Proagna Approach
68 |Topology is........ It is a science that studies the potholes of land.
69 |What is the aim of “Mission Manglam” ? 'fl'aon:ial::.the standard of life of poor women and
70 |What is the full form of SEQI School Education Quality Index.
71 |Who plans ‘NAS’ ? NCERT
72 |How many National Monuments are there in Ahmedabad after the declaration as world heritage city ? 54
73 |Which is sheet A (Patrak-A) used under continuous & comprehensive evaluation in primary schools? Constructive evaluation sheet std 3 to 8
74 |Fill in the gap according to ‘GST’ logo. One Nation, One tax and one.......... Market
75 Gujarat Government recently constructed developed a complex at Ahmedabad on ppp basic. Name that Transtediya

modern sports and entertainment complex.
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90 [ugdorenil oA US| entell sl A slatcl quiArs  ? Lol — 3Ll
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96 |Complete the sentence. : Disha knows the reason.... Why her brother could not pass the examination.
97 Select tf.le proper word for underlin.ed word. . . spilt
The cat jumped over the glass of milk. The milk was spread all over the floor of the kitchen.
98 [The Voter can hardly find any difference the parties contesting the elections. among
99 Teacher : Ramesh, give me your sharpener, please. Here it is, madam.
Ramesh : Teacher : Thank you.
100 |The _____ part of the novel was boring. latter
101 |Which one is the correct sentence ? We have not met for a longtime.
102 [Select the proper option for underlined sentence.:  When | reached the hall, it was full. All the seats were occupied.
103 [She went to market after she_____ money from the ATM. had withdrawn
104 |Before | reached home, my wife ____already ____ the doctor. had, rung up
105 |My younger brother is good ____ mathematics. in
106 |Which one is not utensils ? coal
107 [Remove ‘too’ - He is too poor to buy any clothes. He is so poor that he cannot buy any clothes.
108 [Rohit ran after a cat. The cat ran ____the kitchen. into
109 [Ramesh _____ walk a long distance everyday. can
110 ;Ii;::ll?tjr::::,(:lg?rﬁ:zel well today. Uncle:oh!you____ to bed. | will call a doctor. should go
111 | she was warned that it would rain, she went out without umbrella. Though
112 |Mihir ___ his lunch in the canteen last night. had
113 |We started early ____ we might not miss the train. so that
114 |1 am riding my scooter, you ride yours
115 |10 : 20 means....... Twenty past ten
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116 |3 & T B Tl SIS U&= | e — oldia

117 | 9 & A1 ALHO ft § H Y | 56 I A X@ifhd UG TR0 HY GRF FT 8 ? GegagD T

118 |Terd 1ag UgaTy | 49 PT IR 3B £ |
119 [SHeRY 3 ST 3 AT ¢ quit & MR R wE Sie g | g =3+9

120 [gfET o gfeT | TR

121 |Fre ot fAfla wert & — SR &I Sfid

122 |feii & SR Tew qTe DIF-HE | 31T WY SR §1T |
123 [aforagartt graref 6t weEl Sirs g | 91 — AR

124 |SFTRT &1 31ef BT 8 — BIe A

125 |@o8 $Ht W' IHG & oGP DI 8 ? R AT

126 |WifeiT o8 Gfev | TR

127 [T URa 6t Teiel WS Yga | T — i

128 |I€ 9= UEaIY | sfers

129 |gE 9199 gAY | foeftnt O Tl <8 T |
130 |91 3referet 2e< gAY | o

131 [Tofel SiIg UgaIg | et — =t

132 |F= uRadH &t ¥l Sils U8y | it — i

133 |kt &t IF Bed S GaTfee S s gy | N s § — Wi e #
134 [ il aretr grs< gAY | STt

135 |eTecmrer &b e HH Bl g | g, agd, Giia, de11, T
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SANSKRIT (QUESTION NOs.136 to 150)

136 [T + AT = e |

137 [ fameed - eS| T+ Taq + o + 31 + S |

13g[SF:: IR P | Amart:

139 |VTC: SAT HE_ FHIA | G

140 | E T, =R | AfFHR T : |

141 |8R' (49) STH FT AT ? TarRreaTRer |

142 |78 TG SSaIea: AIeveareT Wi AN aRif | (R U SwIiE s aRig) T U SSATed: ardvsaeRd b #Rifd ?

143 |JATHT FHITE: TR TeBfl | (Fa: — IS HARIT U5 goug) 3BT PeI: TGN TFeBf ?

144 |99 91T 4: SHTFR: | MR |

145 |09 M it AT | SFFT:

146 |R&g@: fF Ui e BRI | (Freraer gt are qdg 1) R&e: AT geafa |
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URDU (QUESTION NOs.136 to 150)
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MARATHI (QUESTION NOs.136 to 150)

136 |1 fonaTagTaT 3ref QRT Sl PTG SRest @R o fohaTag U ThHD

137 |38 + oiter o1 greaTelt Weft gdier UHOY orR. geiler

138 | 'S Srearen fRevor’ =T arevERTET 31ef =1 JHE B, SINRGIC|
139 |'3FE PR WDl & AT AT HART ISTERT 37Te. AT TN
140 [T TN TRISIT AT ST =TT I AT 98t Biil IR DIVRT 2765 O 2 GEG)

141 |8 AT SATHIFET’ & 7 YbIed I 318, GECEIE)
142 |'Irae ou= & i A W Sg.” 91 AT AR I @etlel T 37T, Urael P9 & Pral der & AT,
143 | IR &I et U 3iegd ? aF

144 & D07 SieTer SielT XIS ATHT FoTell & 9T XETd SR S8, HOURY

145 | "R KT THH I AT 7 968 TeEed gelcl Yol T 9165 <l BRI

146 | g’ a1 SregearEr UR s (fBrR) Grefier 0T oe. T+ 3Ny

147

"G’ 9T AR A TE Gleiied Jeb 3Ta.

148 |'STHA’ 2 T ITHF 38 3 I Aftietel 3 T Fleilel Yol Teb STeiPR Il I
149 [T TNITE ST AN DIV TN JUraTel ? ge
150 | P TR JUITHT NIV FEAT HIaT JFERFCR Al °T AGUATAT AR 3 ORI . it




No. |

Ui

FAloL

Part - Il (Maths-Science)

76 |Choose the incorrect pair in context of salt and their use. Common salt — In medicine of acidity.
77 |If there is a carbohydrate in food, than what type of solution does the black colour get ? iodine

78 are provided with semi lunar valves. Vein

79 |What principle does Distilation Method work on ? Every substance has different boiling point.
80 [Substance attracted by magnet are made from which material ? Nickel

81 |Which organelle contains many digestive enzymes. Lysosome

82 |Which of the following hormones regulates the metabolic activities ? Thyroxin

83 |Which chemical is used in a pump (Inhelar) used for patients suffering from Asthama ? Na,0,

84 [What is the percentage of oxygen in the air ? 21.0%

85 [Which of the following microbes is useful for making a freezing substance (Aagar) ? Algee

86 |Which planet has no natural satellites ? Mercury

87 |How many days does the zygote take implant to the wall of uterus of female ? 7-8 days

88 |Which of the following characteristics has the vegetable water chestnut ? The root is scantly developed.

89 |If the weight of a substance is 60 N on the Earth willbe ______ on the moon. 10N

90 |What degree of angle should be adjusted between the two plain mirrors to get 8 images of an object ? 36°

91 |Which of the following is the best quality of coal ? Anthracite

92 (Which of the following glands helps to maintain body temperature ? Sweat gland

93 |Which of the following is not an example of underground stem ? Carrot

94 No moon day, Solar Eclipse

According to above situation, which phenomenon takes place ?
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95 Mansi and Tarak observed that there is a trouble in light or fan in one room at school. The light and fans in |It is a parallel connection and closed circuit
the other rooms remain on. Their teacher explained. condition.
96 (Which option is incorrect in context to lows of reflection of light ? Reflected rays are parallel to each other.
Dc B A
Accordin ve diagram lowin
97 aiic:lh(:chgt:;:t\,:l)a:e‘: \:l?lli::or"nt;yo:: ? : Tube-D
98 |Raju is in confusion in phenomenon of combustion. Choose proper option from the following to help him... :‘noiI::A;dcz:t;t‘xstion, heat is produced but light is
99 |How much ppm salted water is harmful to drink ? Above 500
100 |What is Hetropogon, inspired Jeorge-de-Mustra to discover “Velcro” ? Speed of grass
101 |Which deficiency of vitamin causes liver diseases ? Vitamin-K
102 |What is the velocity of light in water ? 2,25,000 km/sec
103 |Which one is the electron configuration of ‘Silicon’ ? (2,8,4)
104 |Which alloy possesses a wonderful unique property “Shape Memory” ? Nitinol
105 |Which of the following fruits is capsule ? Cotton
106 |What is the use of vulcanized rubber ? Preparation of soles for chappal.
107 |Which of the following has 9070 Boiling point ? Zink
108 [Which poisonous gas is produced by deterioration of substances ? Hydrogen sulphide
109 |Which constellation is seen at 900 in the sky in December/January ? Krutica
110 |Which disease is caused due to deficiency of protein ? Marasmus
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111 {Which grand prepares the person to face the critical situation like fight or flight ? Adrenal gland
112 [Which types of coal is used in thermal power station ? Lignite
113 [Which fish is the producer of perfume material known as embergreese ? Sparm Whale
114 {Which of the following is the molecule of sucrose ? C,,H;,0;
115 |4x2 + 16X + ........... Find the last term such that given polynomial becomes a perfect square trinomial ? 16
116 Various crops are taken from a farm of 400 Hq. (Hactor) land. The crop of wheat is taken from 40 Hgq. o
which degree of angle will be shown in Pie-Chart ? 36
117 Rajesh’s salary is deducted 10 (Ten) percent. How many percentage will have to increase to get the 11 1 2sl
previous salary again ? 9
118 |Find the value of (17.3x17.3) = (7.3X 7.3) 10
17.3+7.3
119 |The time in a clock is twenty minutes past-six. Find the angle formed between two hands ? 70°
120 [Which one is related to square but not to rectangle ? Diagonals bisect each other at right angle.
121 [Find the correct statement. The measures of opposite angles are equal.
122 |Find the mean of first four consecutive even number divisible by 3 ? 15
173 The value of a table is twice the value of a chair. Total value of four chairs and a table is % 300
% 1800/-. Find the value of the chair ?
124 |Find the cube root of 19,683. 27
On the day of “Village cleanliness day” 150 students take 6 hours to clean the village. How much time will
125, . . C 5 hours
it take to clean the village if 180 students join it.
The diameter of a circular ground is 49 metre. How much time will it take for a students while walking on ]
126 . . 22 minutes
the fringes at the speed of 7 metre/minute.
127 |Find the smallest number by which 576 must be multiplied to obtain a perfect cube. 3
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128 |What is the ratio between the volume of a cube and volume of a cube with edge twice of that cube ? 1:8
The diameter of a water tank is 1.4 metre. How much money will be spent to fix the tiles on the floor of
129 R %92.40
the tank at the rate of 2 60/- per sq. metre ?
In a series of lights, Red light blinks after 3 seconds. Blue light blinks after 9 seconds and the Yellow light
130 |blinks after 15 seconds. If all of them are switched on at the same time, How many seconds will it take to |45 sec.
light together ?
. 3 3
131 |Find the value of 3/0.216 + 3/0.064 + /343 8.000
“The addition of any two rational numbers is a rational number ” Identify the given property for addition
132 . s yiw I . ! ! “ 'y the given property ™ Closure property
of rational numbers.
212
133 |Which method is improper to show ‘ 64°. ? ?
134 |Which method is incorrect to express perpendicular lines symbolically ? AB J_ CD
Two statements are given below.
statements-1 : If the measures of two angles is 1800 then. They are called supplementary angles to each ] ]
The pair of each supplementary angle forms a pair
135 |other. of linear pair of angles
statements-2 : The sum of the measures of the angles of linear pair angle is 1800. P gles.
According to above statement which statement is incorrect ?
5 .2 3 2 2
136 |Evaluate 6+13X10_3 3
137 150 students complete the cleanliness of school in 6 hours in Manishaben’s school. One day some 60
students were absent; it took 10 hours to finish the work. How many students were absent on that day ?
138 If the surf1 of two polynomials is 3m” + 7m and the subtraction of them is m” + m, than choose the correct m? + 3m, am? + 4m
polynomials.
The distributi f multiplicati fint
139 [Which statement is wrong in context to integers. e. ,Is r|. ution o r'nu Iplication ot INTegers over
addition is not possible.
140 |Choose the incorrect statement in context of quadrilateral. Each parallelogram is a square.

141

If a+b=8 and ab =15 than find the value of a3 + b3 ?

152
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142 [The sum of two numbers is 56. The ratio of smaller and larger numberis , gwen find that numbers. 21 and 35
143 |Which option is not appropriate for given statement ?  Bisector of an angle is........... aline
144 |Which of the following types of angle pairs are there whose sum of the measures of angles is 180° ? Interior angles of transversal
145 |Which of the following number’s L.C.M. is 100 and H.C.F. is 1. 4,25
146 Before three years ago the age of Nirav, Nihar and Mihir was X years. Find out the total age of all of them X +18
after three years.
147 |Which measures triangle is not possible to construct ? PQ=3.5cm,QR=3cm, PR=8cm
148 |How many handker chiefs of 2500 sq. cm. will be prepared out of 4 meter long and 1 meter wide cloth. 16
149 |Find the smallest fraction. %
150 |How many acute angles are there in a acute angled triangle ? three
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76 [Which longitude is known as international date line ?

180°

The words, “ Socialist, Secular, Unity and Integrity of the Nation ” were added in the year of in the

77 . o
preamble of Indian constitution.

1976

78 [Who was the first indian woman to set foot on the North Pole ?

Preeti Sengupta

79 |What is cyclone called with highest velocity in Texas state ?

Tornedo

80 |The structure of the Qutub minar began by and expanded by .

Qutb al-Din Aibak, Eltumis

81 |The time period of first world war was

1914 to 1918

82 |Which is not a lake of sweet water ?

Chilka

83 |Who was the first person to call the revolt of 1857 as the first freedom struggle ?

Veer Savarker

The regions and their location of Gujarat are given below. Match the following with correct option.

A B
1. Vagad Pradesh (a) The region between the river of Keem and Dhadhar.
84 2. Charotar (b) The region of Bhachau and Rapar.
3. Kanam (c) The region of Chotila-Than and Ghela Somnath.
4. Panchal (d) The region between the river of Dhadhar and Vatrak.

1-b, 2-d, 3-3, 4-c

85 [Which state become the first victim of the subsidiary Alliance of Wellesley ?

Hyderabad

86 |When did the constitutional committee allow the constitution ?

26th Nov, 1949

87 |What is the meaning of “Santhaghar.”

A place where united democratic states assemble.

88 |Who is related with Maurya dynasty ? Bindusar
89 [Which of the following was written by emperor Harshvardhan ? Ratnavali
90 |From which country does the longitude pass through ? England

91 |On the base of which story collection was Hetopadesh written ? Panchtantra
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92 [Which crop taken the most time to prepare ? Linan

93 |What mark should be signed on its pouch while buying vegetable ghee ? Agmark

94 |[Kuchipudi dance is associated with which state ? Andhra Pradesh

95 |Name the continent where Tropic of cancer and Tropic of capricorn do not pass through ? Europe

96 |Since when has the Panchayati Raj begun in Gujarat ? 1963

97 |During the Period of which ruler had the vikram samvat begun ? Chandragupt-I|

98 |In which year did the high court establish in Gujarat ? 1960

99 |Where is the factory of paper produced to prepare currency notes ? Hoshangabad

100 |{Who is the founder of Kangari Gurukul ? Swami Shraddhanand

101 |Name the archaeologist who revealed the magnificent heritage of India ? Alexander Kunighan

102 ;I"Tan:sc:r;i txl::z::t:;Haridham Pilgrims of India”. My shikhar is 6 storeyed. My dome is erected on 60 Dwarkadhish Temple

103 [Which architecture was not built during the period of king Siddhraj Jaisingh ? Raniki Vav

104 [{Where i the international court of Justice ? Heg

105 |Which play (formation) was written by king Harshvardhan ? Priyadarshika

106 |What is the Geographical importance of june 212 Days are longer on the tropic of cancer.
107 |Which tree peel is used in making of Bhojpatra ? Bhurj Tree

108 [Name the great sanskrit poet who adorned the court of Harshvardhana ? Banbhatt

109 [In which country is the sun seen at midnight ? Norvey

110 |Who was ruling over Gujarat when Md.Ghazani attacked over somnath Temple ? Bheemdev Solanki

111 |Which statement is true in the context of the Chief Minister ? He/She is the administrative head of cabinet.
112 |On which sphere of the Earth is your house constructed ? Biosphere

113 [How many members are elected in Rajya Sabha, after two years ? one third

114 |What is Kalgoorlie and Coolgardie ? Gold mine
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115 [Who established the organization named ‘Mitramela’ ? Veer Savarkar

116 |What is responsible for Kheda Satyagraha ? Revenue recovery despite the Drought.
117 [Name the first Indian who was appointed as the president of general assembly of U.S.A. ? Vijayalaxmi Pandit

118 |Which Indian king made the first initiative to join the Indian Union ? Krishnakumarisinghji from Bhavnagar
119 |Which neighbouring country of India known as “ISLAND OF JEMS” or “The Perl of East” ? Shri Lanka

120 [Who has the right to convene parliamentary meeting and announce the end of the session ? President

121 |How many members of Rajya Sabha are appointed by the President ? 12

122 |From which direction does the Earth move to on its axis ? West to East

123 [In which list of Indian constitution is education included ? Joint body

124 |What age is called the period of 8" (Eighth) to 12" (Twelfth) century ? Early medieval age

125 [Which of the following countries belongs to south America continent ? Brazil

126 {In which script most of written articles are found on Bhojpatra and Taalpatras ? Pandu

127 |Which Sun Temple is shaped like a chariot drawn by seven horses ? Konark

128 [Name the city, where eastern longitude passes, decides the standard time of India ? Allahabad

129 |Which movement of Gandhiji is related to Motihari Village ? Champaran Satyagrah

130 |Who wrote Harshcharita and Kadambari ? Banbhatt

131 |At what speed the Earth rotates on its imaginary axis at any point along the equator ? 1670 Km/hr

132 [Which Indian sailor helped Vasco-Da-Gama to discover the sea route of India ? Mohammad Eibn mazid

133 |According to Babasaheb Aambedkar, what is the soul of constitution of India ? Right to constitution remedies

134 |Which one of the following does not belong to private sector ? Bhilai steel plant




No.

Ui

FAloL

135

Match the following.
Part-1 Part-2

(A) World Health Organization (1) New york

A-3, B-4, C-1, D-2

(B) UNESCO (2) Washington (D.C.)
(C) UNICEF (3) Jiniva
(D) WORLD BANK (4) Parish
136 |Which one of the following produces the distribution based map ? gf;l\r/‘li(:a(t?::i)onal Atlas & Thematic Mapping
137 |Which one is not the characteristic of organized sector ? No extra wages for extra work.
138 [Which statement is incorrect for ‘dead sea’ ? Its salinity is four times greater than the sea water.
139 |Which tree naturally makes turpentine ? Chid
140 [Which French traveller visited India during Mughal rule ? Tevernier and Burnier
141 [The places where Vallabhacharya did Bhagvat Katha, Parayana are knoun as_______ today. Bethak
142 [In which continent is the world’s longest river Amazon found ? South America
143 |The distance between two longitudes is only 111 kmon Equator
144 [How approximately far is Gujarat in the west from Arunachal in the east ? 3000 Km
145 [What is the plain of yellow soil of north west China known as ? Loyesh
146 |Which Lake is situated on the highest peak in the world ? Titikaka
147 {Which country has the longest coastline in the world ? Canada
148 {Which European community came to India first for trading ? Portuguese
149 |What colour sign is on the packing of non-vegetarian food items ? Red
150 |Choose the wrong statement with the context of Indian rivers. Rivers of south India are not used for production of

Hydro electricity.
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38 [Give one word for “ to go on some one's land without permission. ” to trespass
39 |The police investigating the fraud, but haven't arrested anyone yet. are
40 [My mother coffee before | woke up. had made
41 |Choose the antonym of the word ‘ please’ displease
42 |Choose the correctly spelled word. inconvenience
43 (Last night | went out with some friends of myself
44 |My uncle had come from Surat the new motorbike. riding
45 |Navaratri, festival is celebrated to worship Goddess Durga. a nine-day
46 crossing the road, | saw an accident. While
47 |The National Book Fair in the newspaper, but | didn't notice. was advertised
48 |After her, we left for our home. seeing
49 |As soon as the sun came out, | down on top of a high rock to dry myself. lay
50 |Vishwanathan Anand was born 11th December, 1969 on
51 |5 I8 T TocaaNUEe Tad il & ? gewul
52 |Fr=feifed & o Wi & 319 w1 3rerT & 2 RQP
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96

Complete the sentence. : Disha knows the reason....

Why her brother could not pass the examination.

Select the proper word for underlined word.

97 The cat jumped over the glass of milk. The milk was spread all over the floor of the kitchen. spilt

98 |The Voter can hardly find any difference _______ the parties contesting the elections. among

)

100 |[The ____ part of the novel was boring. latter

101 |Which one is the correct sentence ? We have not met for a longtime.
102 |Select the proper option for underlined sentence.:  When | reached the hall, it was full. All the seats were occupied.
103 |She went to market after she_____ money from the ATM. had withdrawn

104 |Before | reached home, my wife_____already ____ the doctor. had, rung up

105 |My younger brother is good _____ mathematics. in

106 |Which one is not utensils ? coal

107 |Remove ‘too’ - He is too poor to buy any clothes. He is so poor that he cannot buy any clothes.
108 |Rohit ran after a cat. The cat ran ____ the kitchen. into

109 |[Ramesh _____ walk a long distance everyday. can

110 (l\:/?i:t‘:ll?tlfrnt::,c:lzl:rﬁlt‘;el well today. Uncle:oh!you___ to bed. I will call a doctor. should go

111 |___ she was warned that it would rain, she went out without umbrella. Though

112 |Mihir ____ his lunch in the canteen last night. had

113 |We started early ___ we might not miss the train. so that

114 |1 am riding my scooter, you ride yours

115 [10: 20 means....... Twenty past ten
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